
Time: 30 Minutes Paper Math 5 (T1) Total Marks: 25

1st Month, 1st Week, 6th Day Syllabus: Revision Test (1st week)

SECTION-I
Q.No.1 Encircle the correct answer from the following choices. (1 × 13 = 13)


1. 732 051 can be written as in expanded form:  732 051

(a) 700 000 + 30 000 + 200 + 50 + 1 (b) 700 000 + 30 000 + 2 000 + 500 + 10

(c) 700 000 + 3000 + 200 + 50 + 1 (d) 7000 + 3000 + 200 + 50 + 1

2. Four hundred thirty two thousand four hundred one, in numerals:


(a) 423 402 (b) 432 104 (c) 432 401 (d) 432 403

3. Number 321 005 in words.  321 005 
(a) Three hundred twenty two five 
(b) Three hundred twenty three fifty 





(c) Three hundred twenty one thousands five 
(d) Three hundred twenty one fifty. 

4. What is the place of "7" in number 789 321?  "7"789 321 
(a) hundred thousand  (b) ten thousand 
(c) one thousand  (d) hundreds 

5. Six hundred twenty three thousand four hundred ninety five in numbers:







(a) 623 495 (b) 633 495 (c) 623 595 (d) 628 495

6. 386 219 in expanded form:  386 219

(a) 300 000+90 000+6 000+200+10+9 (b) 300 000+80 000+6 000+200+10+0

(c) 300 000+80 000+6 000+200+10+3 (d) 300 000+80 000+5 000+200+10+6
7. The speed of light in vaccum is 299 792 kilometers per second.  This

speed can be written as in words.

 299 792 
(a) Nine hundred twenty nine thousand seven hundred ninety two. 
(b) Two hundred ninety nine thousand seven hundred ninety two. 
(c) Two hundred ninety nine thousand nine hundred seventy two. 
(d) Nine hundred ninety two seven hundred ninety two. 

8. The place value of digit "7" in number 817 656 is:  '7'  817 656

(a) 70 (b) 700 (c) 7 000 (d) 70 000

9. Eight hundred seven thousand eight hundred in numerals:


(a) 807 800 (b) 870 080 (c) 870 800 (d) 807 008

10. 910 009 can be written as in words:   910 009

(a) Ninety thousand one hundred nine 
(b) Ninety one thousand nine 
(c) Ninety one thousand nine hundred 
(d) Nine hundred ten thousand nine 

11. We put space after every _____ digits in numbers.

 _____ 
(a) 2 (b) 3 (c) 4 (d) 16

12. The place value of 2 in the number 985 621 is___.  2  985 621

(a) 2 (b) 20 (c) 200 (d) 2 000
13. In 856 211 the digit ______ is at thousands place.

 856 211

(a) 2 (b) 5 (c) 6 (d) 8

SECTION-II
Q.No.2. From the following questions answer any FOUR questions. (4×2=8)

 2 
(i): Write the following numbers in words. 709 132  
(ii)  Write the following numbers in expanded form. 131 441 
(iii) Write the place and place value of the underline digits. 876 094

876 094 
(iv) Write the following number in numerals. 

Eight hundred seven thousand eight hundred 
(v) Write the place and place value of the underline digits. 425 419

425 419 
SECTION-III

Q.No.1: The minimum distance between the earth and the moon is about 363 104 km.     (4)

 363 104  
(i) Write it in words. 
(ii) Write it in expanded form. 
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